B A E5ERR—

H27.11. 4
Bt A £ B i & &t Bt A = 4 & &t
XERE 21 17 38 F1{EE 1 1 2
E =A==y 14 16 30 FHIEE 1 1 2
Bk 8 8 16 XIEE 1 1 2
ZRBA 8 4 12 X 1 1 2
SRR 7 5 12 TEERE 1 1 2
FHZE 7 3 10 EER 2 2
ERAER 4 5 9 %93 1 1
EE# 7 1 8 RER 1 1
ERIE 5 3 8 it = 1 1
i JrdES 4 2 6 i R EE 1 1
75 4 1 5 TEEA 1 1
RRE 2 3 5 B TE1R 1 1
fax 1 3 4 TR 1 1
F£11E#% 1 3 4 Bk 1 1
TEEF 1 3 4 RBE 1 1
Xk 1 3 4 TEEA 1 1
xR 4 4 RELREUXE) 1 1
EAE 3 3 EER 1 1
éf:ilm(EJb%) 2 1 3 g 1 1
R 5% 1 2 3 EtE7m8 1 1
Z=XER 1 3 *11 1 1
T KE 2 2 [EWN: 1 1
EF#85M3 2 2 a1 1 1
g5 BT 2 2
74 it 108 89 197 /N 5t 15 14 29
& &t 123 103 226




